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Match the following ge;
their respective products :

@ igenes @) p-galactosidase
(®) zgene "\ (i) Permease
(€ agene (i) Repressor
(d yegene: iv)  Transacetylase

Select the eorrect option.

@@ () @© @
O @ G 6O G
@ @O @@ @@ G
@ G @ G G
& @ 0, @

Matech the following structures with their
respective location in organs :

(@  Cryptsof Liebcrki.ihu\ () Pancreas
(b) Glisson’s Capsule :, \ (i) Duodenum
© Isletsof Langerhans/ ‘{m) }s‘;?eilslne
(d) BrunnersGlands.  (v) Liver
Select the correct option from the following :

@ b @© @@
&G @ 0 v
@ @ O G
@ G @ @ G
@ G G 6 @)

What is the direction of

Non-multid irectional
(3)
(€))

Upward
Downward

The ciliated epithelia]
particles or mucys in
. humans, thege cells are

. M Bronchioles
2)

@  Fallopian tubes and Pancreatic duct

M

cells are required to move
a speciﬁr: direction In
mainly present i, -

and Fallopian tubes

Bile duct and Bronchioles

Eustachian tube and Salivary duct

1€8 ’Jf’;‘hﬁ' 1;2__:-.: operon with |

movement of g .
phloem ? ol sugars in \?/ zha: Earth Summit held in Riode Janeirp 19
y\(})/ Bi-dix'eclionaj (1) Called 0 1n
(2)

[ o]

18 the mOSt IDPOTtang

in

T drie
yelllg 1Yy

PRI A% WOy | petr 1
Which of the followlti

5/ jants
f\; r and 1--"”
|
|

for animals

e
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(4) Economic exploit
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Which of the following pair of organelles does
contain DNA ? : |

Nuclear envelope and Mitochondria

(1)
(2) Mitochondria and Lysosomes
(3) Chloroplast and Vacuoles

W) Lysosomes and Vacuoles

)

Placentation, in which ovules develop on the i
wall of the ovary or in peripheral part, is -
1)
(2)

Free central

Basal
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C/__ Match the following hormones

<

_ with the respective
/ disease: >

(@  Insuli n\(‘n
()  Thyroxiv / i)

(1)  Diabetesinsipidus
©  Corticoi N i)
(d) Growth Hormobgk(:)

(v)  Diabetes mellitus

Addison’s disease

Acromegaly

Goitre

Select the correct option.

@ (b © @

o @ ® O @
® & ® @ G

@ @ G @ o

®@ © W O O
LZ/ The correct sequence of phases of cell eyeleis:
(,6 G, 8—>G,—»>M
@ M—>G —G,—>S
@ GG~ S—->M
@ S—=2G G —M

Which of the following sexually transmitted
diseases is not completely curable ?

&)  Chlamydiasis
(2) Gonorrhoea
(3)  Genital warts

(40  Genital herpes

Polyblend, a fine powder of recycled modified
plastic, has proved to be a good material for :

(1)  making tubes and pipes
(@)  making plastic sacks
(3  useasa fertilizer

o

construction of roads

'I'I_'he shorter and longer arms of a submetacentric
chromosome are referred to as:

0]
@
®
)

m-arm and n-arm respectively
s-arm and l-arm respectively
P-arm and q-arm respectively

9-arm and p-arm respectively

R1

16,/ Following statements describe the characteristics
of the enzyme Restriction Endonuclease. Identify
the incorrect statement.

(1) The enzyme recognizes a specific
palindromic nucleotide sequence in the DNA.

(2)  The enzyme cuts DNA molecule at identified
position within the DNA.
J,ﬁ{ The enzyme binds DNA at specific sites and
cuts only one of the two strands.
(4) The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.
'17( Persistent nucellus in the seed is known as
(1) Tegmen
(2) Chalaza
B

@)  Hilum

Perisperm

Tdentify the cells whose secretion protects the lining
of gastro-intestinal tract from various enzymes.

(1) Duodenal Cells
J&  Chief Cells

(3 Goblet Cells

(4  Oxyntic Célls

J8

19./ Which of the following statements is not correct ?

o

(2) Lysosomes have numerous hydrolytic
enzymes.

Lysosomes are formed by the process of
packaging in the endoplasmic reticulum.

(3)  The hydrolytic enzymes of lysosomes are
active under acidic pH.

(4)  Lysosomes are membrane bound structures.

207" Match the following organisms with the products

they produce :

(a) Lactobacillud (1) Cheese

(b)  Saccharomyce i) Curd

cerevisiae

©  Aspergillus niger.— i)  Citric Acid

d)  Acetobacter acets iv) Bread
\\n Acetic Acid

Select the correct option.

@ (k) @ @
O WG @ @
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Which par

t of the brain is responsible for

thermoregulation 2

) Medullacblongata

@)
3

4

W
@

S
(8

%(ﬁ'ﬂmﬁe

o thequemy of recombination between gene pairs

Cerebrum
Hypothalamus
Corpus callosum

a red flower was

te flower andinF, generation,

withaw . ~d When pink flowers

generation showed white, red

selfed, th Fy oose the incorrect statement

tion does not apply in this

chofthe following can be used as a biocontrol

3{ fg:ntjn the treatment of plant disease ?
® Lactobacillus
Trichoderma
Chlorella
Anabaena

ct the correct group of biocontrol agents.
Nostoc, Azospirillium,
Nucleopolyhedrovirus

B.aciilus thuringiensis, Tobacco mosaic
virus, Aphids

Trl'.c?wderma. Baculovirus,
Bacillus thuringiensis

Oscillatoria, Rhizobium, Trichoderma

B
ame chromosome as a measure of the

) tween genes was explained by :
o .T‘_“tt.ﬁanveri
® o Morgan
@ 8orJ. Mendel
O p. USturtevant

'Quotient (RQ) value of tripalmitin is

4

What would pe the heart rate ol
cardiac output is b L, blood volume ‘.u' PE‘:&_{
at the end of d,iast.ol_.-f is 100 m '
ventricular systole is 50 mL?
(1) 125 beats per minute
@ per minute

(3)
(4)

2/

Logj |
uir: n.i
ﬁlﬂl.ﬁl

50 beats
75 beats

100 beats per!?

per minute

ninute

28.

3N

From evolutionary p O.i nt of view, teeny
female gametophyte with flefelollmgsufjm%
on the parent Sporop hyte for some tiﬂ'LEl,--L
observed 1n:

(1), Gymnosperms

G
(3)
(4)

Liverworts
Mosgses
Pteridophytes

Which of the following ecological pyrin
generally inverte d?

29

(1) Pyramid of biomass in a sea

2) Pyramid of numbers in grassland
ﬂi/} Pyramid of energy

(4) Pyramid of biomassina forest

30, Colostrum, the yellowish fluid, secretedby
du_rmg the initial days of lactation is very®
to impart immunity to the newborn infants

‘i(?ontains :
)  Immunoglobulin A

(2) Natural killer cells
(3) Monocytes
(4  Macrophages

Ll;}?oem in gymnosperms lacks :

Both sieve tubes and companion cell

(:3) Albuminous cells and sieve cells
(3)  Sieve tubes only
(G

Companion cells only

©

: ollowin . I
respective charact risgczljganlsmb with

a
((b; Flame cells
(© Comb plate®
(d) Radula
Malpighia®
= ::; correct option from :}1:: lft;lflg::»v\rirlg:
O G ® © @
(1.1.1) (i1) (iv) @
~g}f’ i
L@ @@ @



\)g,g Use of an artificial kidney during hemodialysis
may resultin:

() Nitrogenous waste build-up in the body
® Non-elimination of excess potassium ions

© Reduced absorption of calcium ions from
gastro-intestinal tract

(d) Reduced RBC production

Which of the following options is the most
appropriate ?

o @ and (d) are correct
(2 (a) and (b) are correct
) (D) and (¢) are correct

@ © and (d) are correct

%4/ Which of the following statements is correct ?

(1) Cornea consists of dense matrix of collagen
and is the most sensitive portion of the eye.

Cornea is an external, transparent and
protective proteinacious covering of the
eye-ball.

3) Cornea consists of dense connective tissue
of elastin and can repair itself.

\&

(4) Corneaisconvex, transparent layer which
is highly vascularised.

s

\Iﬁ/ Select the incorrect statement.

(1) Human males have one of their
gex-chromosome much shorter than the
other.

(2)  Male fruit fly is heterogametic, -

(3)  Inmale grasshoppers, 50% of sperms have
no sex-chromosome,

) In domesticated fowls, sex of progeny

depends on the type of sperm rather than
egg.

The concept of “Omni
. once nis cellula-e cellula”r i
cell division was first proposed by : -

() Aristotle

| f@/ Rudolf Virchow

B 0 Theodore Schwann
: @  Schleiden

R1

37.  Which of the statem ents given below i8 not trué

about formation of Annual Rings iy trees ?

(1) Annualringsare not prominent in &
temperate reglon.

ees of

(2) Annual ringisa combination of spring wood
and autumn wood produced in a year

(3)  Differential activity of cambium causes light
and dark bands of tissue - early and late
wood respectively.

(4)  Activity of cambium depends upon variation
in climate.

"'{:;E;J Thiobacillus is a group of bacteria helpful in

carrying out :
‘ Q’)/ Denitrification

(2) Nitrogen fixation

(3) Chemoautotrophic fixation
(4) Nitrification

Due to increasing air-borne allergens and

pollutants, many people in urban areas are

suffering from respiratory disorder causing

wheezing due to :

(1) reductioninthe secretion of surfactants by
pneumocytes.

(2) benign growth on mucous lining of nasal
cavity.

(3 inflammation of bronchi and bronchioles.
Vi

407 Insome plants, the female gamete develops into
f.-mbryo without fertilization. This phenomenon
is known as :

@

proliferation of fibrous tissues and damage
of the alveolar walls.

Parthenogenesis
(2) Autogamy
(3)  Parthenocarpy
(4) Syngamy

41.  Select the correct option.

(1)  There are seven pairs of vertebrosternal

three pairs of vertebrochondral i
and
of vertebral ribs. Ropes

@  8th, 9th and 10th paj i
i : paire of ribs artic
directly with the sternum. P

@) 11311'?h and 12! pairs of ribs are connected to
the sternum with the help of hyali
b ¢ = yaline
49 Eachribisafl 1
at thin bone and '
and al th
:re connected dorsally to the tht;erm1er
erteb;ae and ventrally to thé a't,s:':rIim:n.zmlc

3
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42,

¥

4 " :
< Which one of the following statements regarding

6
How ¢ :
0es sterol .
activitieg ? dhormone influence the cellular
M Using aquaporin channels as second
messenger.
@) Changing the permeability of the cell
membrane.
\@{ Binding to DNA and forming @
gene-hormone complex.
(4)  Activating cyclic AMP located on the cell

membrane.

of

(:[ r r writte = ent "lC name
e Lht‘ cor eCt l rowritten s clen ]_t
Sel 3 h‘ )

Mango which was first described

Carolus Linnaeus:

(1) Mang ifera Indica
2 Mangifera indica Car. Linn.

@/ Mangifera indica Linn.

4 Mangiferaindica

What map unit (Centimorgan) is adopted in the
construction of genetic maps ?

ﬂ A unit of distance between genes on
chromosomes, representing 50% cross over.

(2) A unit of distance between two expressed
geneg, representing 10% cross over.
(3) A unit of distance between two expressed |
genes, representing 100% cross over.
) A unit of distance between genes on
chromosomes, representing 1% cross over.
CC‘H:& in Gﬂ phase 2
(1) terminate the cell cycle
Z  exit the cell cycle
(3) enterthe cell eycle
4)

suspend the cell cycle

1 Pugt-fertﬂization development in flowering plants
18 Incorrect ?

W) Ovulesdevelop into embryo sac
(2)  Ovary develops into fruit
(B)  Zygote develops into embryo
4

Central cell develops into endosperm

re

£

neti ) R\//

?{.’-11 lI_I'L"-“: ol
~ .‘- _T §
. 11oW Hlt-‘t‘.d

4 wpich th tQ: o Ul-\:::‘.\_h_l.‘urw.]:\.n ing gl
\37 ?:]low iﬁil‘?'t\:; \tgch’l" '”"
l_emmblmln deis gpectic
3 e o OUS
Jﬁ (:eme;g code 15 not f%mi:]gw .
@ ¢ o1l C CodeEl_.___.(hlnd:_]nt
" g code 18 nearly universal
(4) (leneut™™
. Which of the fullf.?ving glucose transpoy
& msulin-dependem:
a G LUTIV
(2) GLUT!
@ GL uT1l
4) GLUTII1

£ the following conditionswi

] which o ; :
@ SEee in the reading frame of fo

be no change
mRNA ?
b’ &.;A_Q,@QEG(%UGQ_LJA:L_FLI 44

Deletion of GGU_'_['I'Dm 7th gth g

positions
) Insertion of G at 5th position
(3) Deletion of G from 5P position
@)  InsertionofAand G at 4th and 5Mp

respectively

Lippes Loop, Multiload 375
Vaults, LNG-20

Multiload 375, Progestasert

Progestagert, LNG-20
\5{ Variations ca
Hugo de Vriexﬁ jby mutation, as prop’
.(,]2{ small and directionless
EB) random apg directional
4) random anqg directionle
8
@  smal and directlonal E
@ Expressed Se
Quence Ty
a5 - - Eequeiﬂ (ESTs) refers to
2) Genes €XPresgaq a::;r
. v(gf Polypeptide exp.re _ﬂ‘rA
4 S81on

DNA PUl‘ymorphiam

WLARY
LR REN
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53/ Wh_at- triggers activation of protoxin to active Bt
toxin of Bacillus thuringiensis in boll worm ?

(1)  Acidic pH of stomach
2  Bodytemperature
(3) Moist surface of midgut

@/ Alkaline pH of gut

MMatch the hominids with their correct brain
size :

(@ Homo habili 1) 900 cc
() Homo neanderthalen¥e—i)  1350cc
©  Homo erectus~" i)  650-800cc
@  Homo sapiens——— {dv) 1400ce
Select the correct option.
@ ®» © @
@ G @ O @
(2) @) @ Gv) (@) 7(:'L
G @ @ .6 O
@ @ @ O @

557 Which of the following pairs of gases is mainly
responsible for green house effect ?

~,-({{ Carbon dioxide and Methane

(2) Ozone and Ammonia
(3)  Oxygen and Nitrogen
(4)  Nitrogen and Sulphur dioxide
56

Match Column - I with Column - II.
Column - [

(a) Saprc;phygg\ }”

~

Column -I1

Symbiotic association of
fungi with plant roots

\(1) Decomposition of dead
organic materials

111) Li\fing on living plants or
animals

) Symbiotic association of
, algae and fungi

Choo fe the correct answer from the options given

@ ) (o @

@ @ G g
O @ Gy gy
BV

AN
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Which of the following is true for Golden rice ?

A
/

() It has yellow grains, because of a gene
introduced from a primitive variety of rice.

It is Vitamin A enriched, with a gene from

daffodil.

(3) [t is pest resistant, with a gene from
Bacillus thuringiensts.

(4) It is drought tolerant, developed using

Agrobacterium veetor.

What is the genetic disorder in which an individual
has an overall masculine development,
gynaecomastia, and is sterile ?

(1) Down’ssyndrome
(2) Turner'ssyndrome
(3) Klinefelter's syndrome
(4) Edwardsyndrome

‘Extrusion of second polar body from egg nucleus

occurs :
(1) simultaneously with first cleavage
,f‘é) after entry of sperm but before fertilization
(3)  after fertilization
(4)  before entry of sperm into ovum, g s 70 R
Ha0
(oM A x 0@
[

" Agene locus has two alleles A, a. If the frequency
of dominant allele A is 0.4, then what will be the ‘3
frequency of homozygous dominant, hete rozygous ©
and homozygous recessive individuals in the

population ? 5
(1) 0.16 (AA); 0.36 (Aa); 0.48 (aa) (*

3 i
@  0.36 (AA); 0.48 (Aa); 0.16 (an)

,&?) 0.16 (AA); 0.24 (Aa): 0.36 (aa)
4 0.16(AA): 0.48 (Aa); 0.36 (aa)

¢ :
\_j/ What is the fate of the male gameteg discharges

in the synergid ?
\_Ll’)/ One fuses with the e ,
central cell nuclej. g8 and other fuses wit
' € egg, other(s) de
in the synergid, (8) degenerate
(3) A" ‘Fnun smesddl 4N



Pinus seed cannot germinate and

A 0 raneces from 67- ) = SE.QOCI.P!{.‘;OH- i h_f_s 18 beCE
In a species, the weight of newborn range without fungal associs
d g B, : =

€ avera _r&.
2 to 5 kg. 97% of the newborn with an ave (]f)%n
i 1 rhereas 99

weight between 3 to 3.3 kg survive wher

(] ]l:"‘ "\‘l‘_“{_‘d 5. CO I-].!.-u'_‘ii[l lll.hl-” Ors hat
t 1\\ 3 Ir .3'-’ %.0 r\_.‘_:_
”f h{‘ 'ill['.'_ll b{'}l‘n Wi h \\-{‘i‘HJl]r-i lf om !

germination,

or 4.5 to b kg die. Which type of selection process (2) its embryo is immature.
Sy (».’3"')/ it has obligate association with myco
(1) Cyclical Selection =L

) ' (4) it has very hard seed coat.
(2)  Directional Selection _
(3)  Stabilizing Selection

Disruptive Selectior vsé Select the correct sequence of organs
eI s alimentary canal of cockroach starting
Which of the following muscular disorders is mouth :

inherited ? (1) Pharynx — Oesophagus — [ley
(1) Botulism Crop — Gizzard — Colon — Rectum
(2)  Tetany \/(/Zf

(3)  Muscular dystrophy f

Pharynx — Oesophagus — Crop
Gizzard — Ileum — Colon — Rectum/
(4)  Myasthenia gravis

Which of the follo
reducing emission [0}
atmosphere 7

wing protocols did aim fop
f chloroﬂuorocarbons into the

Pharynx Oesophagy
() Geneva Protoco] tleum = Crop - Colon
2  Montreal Protocol ;
@)  Kyoto Protoco] &9/ W,hmh of the fOHOWln
Mitochondyig ;4 incory
(4) Gothenburg Protoco]
@) Mltochnndual matrix
Consider the following statemengg Clrcular DNy mole
(A) Coeng : :
to enz&ylleee 0: ?;etal on that s lightly boung @ Outer oy €mbrane j Permeable to monol
775 Protein jg calleq DProsthetje of Carbohydrat,e i : |
(B) A complete cagy] e e gm p. af » 8, Iats ang Proteins.
bound Prosthetic Broup j Sexith itg RVnide Ofelecn")
j P 18 calleq nzym, n transpm-t are embed
Select the correct optioy, = G ) Fhvi e brane
) (A) 18 false but (B) is trug_ lrilf:)l]z:n mhra ne 18 con Voluted W
2 Both (A) and (B) are true,
@  (A)is true but (B) jg falge, UE calleq i
n
4  Both (A) and (B) are false, (1) itra 18 -Vnthesmed b
J n of g h]-n@
e n ()methy-
onsider following foatyy s ; 3}/ Ation of MGrnh:
@  Organsystem level of organicas: . Cetylat; Whin
ganisation “ On g rbhin
()  Bilateral symmetry ely Cosyla 0 0f 1y,
L
©  Truecoelomates with Segmentation of bogy, | g1 Converaion f e
- A § O
Select the correct option of animal groups whiep, i “Teversjbfel UCOge- Blucog, o
Possess all the above characteristics. by : *®action of glycoly‘l?hqsp hatty
'l '318> 15 cata I.Ii.
(), Annelida, Mollusca and Chordata i "P0%Dhofi g |
Annelida, Arthropoda and Chordata @ Aldolag, =
) Annelida, Arthropoda and Mollusca

(4)  Arthropoda, Mollusca and Chordata

Hexoki’la_ae

(4) Enala.._
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II’ . .
-/ DNAprecipitation
‘ hieved by tr
</ canbe achieved DY

Chilled chloroform

eatment with :

(1)
)
jé) Chilled ethanol

Methanol at room temper

Isopropanol

ature
)
reial blood

Which of the following is a comme

' ent ?
cholesterol lowering age nt ?

%/

"/

(1) Lipases
2) Cyclosporin A

\9&1'( Statin §
M Streptokinase

Which one of the followinfg, equ‘ipments 8
essentially required for growing microbes on .t:\?
];arge scale, for industrial production of enzymes :

m Bioreactor

gV

e,

@  BODincubator
@  Sludge digester
&) Industrial oven

y Which of the following statementg is incorrect ?
(1)
@

Prions consist of abnormally folded proteins.
Viroids lack a protein coat.
\f/h’/ Viruses are obligate parasites.

(4)  Infective constituent in viruses is the protein

coat.

-

@J Grass leaves curl inwards during very dry
Wearher. Select the most appropriate reason from
the following :

(1)
@2
(3)

Tyloses in vessels
Closure of stomata
Flaccidity of bulliform cells

Shrinkage of air spaces in spongy mesophyll

' Xylem translocates -

(I Water, mineral salts,
and hormones

@ Water only

Some organic nitro gen

) Water .
@ salts only

’ .
“.aterf mlnel'a] 8

al _
mt]'gg-e]:l Uﬂjy ts and S0me Urgamc

out of a mixture of biomolecules Jy

R1
- 3 n
ct sequence for transport of SPETT
ductive system-
_ Vasa efferentid

Qelect the corre
cells in male repro

Testis — Epid idymis

. ‘ e :
- _y Vas deferens — Ejaculatory S}:l;
_y Inguinal canal | — Urethr
_3 Urethral meatus |
] ferentia
‘esti Epididymis — Vasa effere
i e o R ]canal = Urethra

— Rete testis—Inguina

Seminiferous tubules — Re.te. test?s
_y Vasa efferentia — Epididym1is
_s Vas deferens — Ejaculatory duct
— Urethra — Urethral meatus

es —> Vasa efferentia

eminiferous tubul
: Inguinal canal

—s Epididymis —
—3 Urethra

@

Which of these following methods is the most

suitable for disposal of nuclear waste ?
the waste within rocks deep below the

(1) Bury
Earth’s surface
(2) Shoot the waste into space
(3) Burythe waste under Antarctic ice-cover

y Dump the waste within rocks under deep
ocean

Which of the following immune responses 1s
responsible for rejection of kidney graft ?

W

80

Cell-mediated immune response

(2) Auto-immune response
(3) Humoral immune response
(4)  Inflammatory immune response

81/ What is the .Isite of perception of photoperiod
necessary for induction of flowering in plants 7

(1) Leaves

\Q{ Lateral buds
(3)  Pulvinus
(4)  Shootapex

1
8 ;
82/ Identify the correct pair representing the

causative agent of t i
yphoid fever ;
confirmatory test for typhoid. i ki

\'(/L}/ Salmonella typhi | Widal test

@ Plasmodium viyay | UTI test &
(3) Streptgcac | ..
' CUs pneumoni, i
@ lae | Widal test

Salmonellq typhi / Anthrone test



8/

R1
\8}./

\_95./ Select the incorrect statement.

Which of the following statements is incorrect ?

87 i i
M7/ Tidal Volume and Expiratory Reserve Volume of

(.-oncana\'alin Ails:
(D) . apigment
2 analkaloid

(3) an essential oil

N

/

a lectin

E_\].‘il!“"‘: o

It takes very long time for pineapple .
mones

produce flowers. Which combination of
i be applied to artificially induce flow
pineapple plants throughout the year o1
yield ? '

(1) Cytokinin and Abscisic acid

hor

nerease

Q_ﬂ/ Auxin and Ethylene
(3) Gibberellin and Cytokinin
(4  Gibberellina nd Abscisic acid

umulation of superior

(40] Inbreeding helps in acc
fundesirable genes.

genes and elimination o

Inbreeding increases homozygosity.

)

3) Inbreeding 18 essential

in any animal.
ﬁ

to evolve purelines

Inbreeding selects harmful recessive genes
that reduce fertility and productivity.

(1)  Yeasts have filamentous bodies with long
thread-like hyphae.

(2)  Morels and truffles are edible delicacies.

(@)  Claviceps is a source of many alkaloids and

LSD.
M

Conidia are produced exogenously and
ascospores endogenously. :

;;'lhz‘;ihl‘f:ﬁ i]S) 50}3 mL and 1000 mL respectively
at will be his Expirat , AT '
Residual Volume is 1200 mﬁ’f;y Capacity if the

1) 2700 mL o AN s
e W e
1500 mL e X 3,(
(3) 1700 mL \ ‘I .\' 4 % &r’. A:\F
4  2200mL :

89.

Bic =-‘th‘1‘i:= Re
N ~
+ual
'*‘-—Snm_tu.. 5
| wildDie
(3 g
i gt
/ }'{:mvm'ei (zar
ich of the fﬂﬂt‘_‘r\\'il gtff
\;{ h}t;n‘ mation of conce n
the £
(1) H\-’dl'ostahc press
{ 5 a
. Eltration

?ﬁ./;\-latch the Column - I with Column - 11

uretic hormone,

osmolarity tow ards

g hyper :
the kidney

L\'_la'mtainin O Y
erstitium n

medullary b
of erythrop oletin

4 Gecretion :
" Juxtaglomer ular complex.

Column -1 Column-Ii
(@) P-wave___ @) Depolarisa
B ventricles

N

f

b)) QRS complex/ : Repolariﬁa'

(1)
ventricles
Coronary
ischemia

© T- wave—\ i)

\

(d  Reductionin
Size DfT -wave

Depolarisa
atria

(iv)

\(x:)

Repolarsa "
atria

Select the corye ct option

(a) (b) (©

O @ @ g

(@)

(v)

@ (v O @) e
i1

® @ g

\’6 @ @)

®
© G
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When an object 18 shot from the bottom of a long
smooth inclined plane kept at an angle 60 with
horizontal, 1t can travel a distance X, along the
plane. But when the inclination is decre ased to

3(° and the same object 18 chot with the same
velocity, it can travel x, distance. Then Xy - %9

willbe ©
@ Ax 243 (w _%
q all-

@ 1:42 % .,x’
(3) \|r§. 3 1 J@"\ " b o ﬂ-'
p-,;f!(m‘tﬂ : o
I. @) J3 2 . o) e B Loz
\ (X S

" 92, A soap bubble, having radius of 1 mm, is blown

from a detergent solution having 2 gurface tension
of2.5x10~ 2 N/m. The pressure inside the bubble

equals at a point 7,y below the free surface of water
in a container. Taking g=10 m/s?,
— 103 kg/m3, the value of Zis:

density of water =
g 00> 2T

at )
/

i'. Q) O0b5cm 2

' (2) 100 cm . B -
' @ 10em ob/ g 0
l' @4 lem U S Xlo— C,f’o
1%

\, b=
g3. Two similar thin equi-convex lenses, of focal length
feach, are kept co jally in contact with each other
such that the focal length of the combination is
F,. When the space between the two lenses 18
£lled with glycerin (which has the same refractive
index (u=1.5)asthat of glass) then the equivalent
focal length is Fy, The ratio F; : Fp will be :

(2) 2:1 -

3 1:2 .

4 2:3 \\N" [
N

a-particle consists of :

(1) 2 protons only

(2) 2protons and 2 neutrons only

W3)/ 2electrons, 2 protons and 2 neutrons

(@) 2electronsand 4 protons only

 Which of the following acts as a circuit protection
device ?

fuse {2 Lo t%
conductor
inductor Zo

97.

4

when the angle ‘?f

In total internal reflection
 angle for the pair

incidence is equal to the critica
of media in contact, W
refraction ?

hat will be angle 0

1 9
@ 180°
@ O

equal to angle of incidence

The speed of a swimmer in still water 18 20 m/s.
The speed of river water is 10 m/s and is flowing
due east. Ifheis standing on the south bank and
wighes to cross the viver along the shortest path,
the angle at which he should make his strokes

w.r.t. north is given by :
(1) 45°west

@ 30° west

®

(4)  60°west

-

% g}b

A parallel plate capacitor of capacitance 20 pF is
being charged by 2 voltage source whose potential
;s changing at the rate of 3 V/s. The conduction A

current through the connecting wires, and the 2=

displacement current through the plates of the

capacitor, would be, res ectively :

P pe _.y B < ﬁ \ }<(j,.
(1)  zero,zero 0 F“’ = {b

@  zero, 60 pA ’ <" /@

60 A, 60 pA b
4 60 E._A, z€r0 : % L/Oi’

The total energy of an electron in an atom in an
orbitis —3.4eV. Its kinetic and potential energies
are, respectively :

1) 34eV,34¢eV R

@ —34eV,—3.4eV e © eNo

@ —3.4eV,-68eV K €7 eNo
G BaeV, 68V G T

\19}./ In an experiment, the percentage of exror occurred

in the measurement of physical quantities A B,C
and D are 1%, 2%, 3% and 4% respectively. Then
the maximum percentage of error in the

2
measurement X, where X = AyB% ,will be :
¢’ D
(1 10% \ 49
T A
@ [—)
i gl

& 16%

@ —10%




5111:‘ W hl n \lk{ht

\?“/'i\' - k\__ < -J.e‘l"l H the ang ular Wig
| N S P! . :.h'( c/ o 058{ ) woel 1{)11:3&{_(1
/12 V dov ° oV = oD g 8CTE" ™~ o 1
( 8¢ g . ]-10(- = 11*-“[ = vhat will be ¢
1[}5 | »{1LQL 2 = f trJ.U Qo W D« €
1\ tal sphere of radius R 18 aniform’y wav e g 11“l]111‘tt1 pe V7 . ,imd if the eng
a s R s . av® st ™ g to P . pimds 1 i
T - ic field due to the sphere ata f the o5 foul’ e first DI ed in waty
reed. The electric hie e ey Y2 gl of 2 s i8 ;e .
by, W tus
Stance g hom the CE!Y‘]LQ ‘ ‘]‘ 1 T 11"‘_:‘“.1‘_1‘1{‘ \1’\11 Hl"p 1
P e for T < R and & .:.;1“"'“‘ 3
y 5 aa T INCreases T
chTer-f{iSBb (Water”
S , for T ° R and for ) 0.1 .
) s ncreases ad » increascs = e »‘
: nCY )66 4 « A
(ZD i‘?} U.-' =7 A
Y‘?R : d wenses | ar § < 1Re - A :\--r"\
as ¥ '\,‘,\C\‘Q;\sos forx = R, Q& 3) 0.19 7 al\V4 \d}(%
ero a= : _—a . f :
@ % reasesfort 19 5 00 &% g u\_%} »
: fort < R, increasts i : > ;
7210 as ¥ inCit ‘“‘: i \] on t Suriace ﬁhe -
@ peresses B : weighs 4V . =+ down to thece
incere [ Abo QbW elghh&‘ way & 9
harges with linear How much W e die ‘\./\
fnite 1 8 S B amlnce e ear { )
Two p2* % \(:“ N Cim and — ! C/im :ue\;piqi i 1 \ (_/\ < Qj
L) o \-:. : = E
108 uhz“%e asns of 2R 1 free space Wha line i) 1001\ Qf (b | .ﬂJ
2 Jistants - 1.WaY hetween the two il : E:
ax,ect e Held T ) 150 N
e = 'y
nares” (3) 200 N U\M
A : 4 2
B Ot (4 250N 2
44 ymeg I \ ’/;i
B ] ] ith velocit < is acted by
= 107. A particle moving with velocity V 18
AR forces shown by the vector triangle PQR:
B TR velocity of the particle will :
| P
003, The unit of the rmal conductivity 18 ?J;)\&-
)y Wm K™ .A/ ?
(1) ¢ N . T
e O
(2) g =1 _-? OQ» 9’/ - ‘)’
2) JmK A R = S £ 9
@ Jm 1K! f\/‘ﬂ\ ?\0’ X
o
4 WmK™ (1) change according
@) increase to the smallest force *
104. The displacement of a particle executing simple 3) e
harmonic motion is given by @
i Temain cong
y=A,+Asinot+ B coswt. tant
108.

e e 0\ :
Then the amplitude of its oscillation is given by : WO particleg A :

(1) A+B

(2) A[) o5 \‘A2 T 82

e

&

.
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I copee s BOVing in
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raand rp with
an

@)
4 @

of
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3 wrn ¢ ]L ( |“‘ !“i
A {00 turn coll Ol ; { E L.
rmendicular 1o a magnetic field 5% 10 1.

9(° around

L

ane of the coil 18 rotated by

When the pl W
When 1 K 1n U,l g t‘ﬂk’ &mt ]_‘ﬂdur-—":‘-‘

say of its coplanar axi

13
fective area 0.05 m? is kept 1.%/3/

R1

R is carrying 2
agnitude of
e, d, from
rectly

conductor of radius

Jindrical
A cylindrica The plot of the m

constant current. :
the magnetic field, B with the dm.tan £
the centre of the conductor, I8 €

represented by the figure -

-
4 - P . {}JI n,ﬁ
n the coil will be : @ Bl i) %_ 6 &f&ﬁ /
- 0 | : . o
1 002V 5 1) L Lo < I
@ 2V -3 |.-”/ :
- 1 |I -
@ 02V y R ; .:
(&) 2><1[)_3'\=T B||’_ :\\ I.
o tact against the (2) \\
' \ of mass 10 kg is 0 con > |
o én‘iﬁ:waoﬂ of 2 hollow cy'llnd_rlcal drum oira;i:\:k S
11 The coefficient of friction betwee_:.nt e e
ma: he inner wall of the cylinder 18 0. 5 e' X
31"—_1 m‘tmim angular veloaity ne eded for the c_ylm er
m kee t,hehlock stationary wi_len ﬂng cyhﬁfei; 1:,. @
- rti(?a\ and rotating about its axis, W e s
Ve
(g=10 m/s?) \o = .
8
(1) 10 wrad/s m‘}\\r:) \ o
. L F y
@) J1o rad/s M j\.a @
‘l- "
S0 o\ =N \I»:}‘ﬁ‘p
@ a0
4 10 rad/s \j‘lr, 'I}'fx/.“m 114. Body A of mass 4m moving with speed u collides
N2 (; with another body B of mass 2m, at rest. The

When a block of mass M is suspended by a long
wire of length L, the length of the wire becomes
(Li+1). The elastic potential energy stored in the

extended wire 18 :
Y
A

111

1 5 Mgl
2 Mgl rf\cfr
(3) Mgl
1
4 3 Mgl

Increase in temperature of a gas filled in a container
would lead to:

(1)
@

decrease in intermolecular distance
increase in its mass
Increase 1n its kinetic energy

@)  decrease in its pressure

collision is head on and elastic in nature. After
the collision the fraction of energy lost by the
colliding body A is:

i
m 3 4 = o x‘f‘?
)\W‘\ + .
\ 2 Y% S{m
(2 = .
9
® -
3) 9
4
(4) 9

\],l{Which colour of the light has the longest

wavelength ?
(1)  wviolet
& red

(3) blue
(4)  green




C 9 ¥,
. g particle in y-¢;
0y acts ona _P :
- | 14 Afol‘ce ;20 ;elwvton ﬂﬂd yin meter. \VOrk
1 {10, 15 1I1 re the partlcl
16. A copper rod of 88 cm and an aluminium rod Q\f Q,@ Whei;f; force b mov ¥
unknown length have their increase in 10‘“ﬁ"; by Coy= 1m 18 oy .a -0 1y
independent of increase in temperature. The lengt y= b 20 g
S e =1 "XIO"F'K’l anc 20J A : 1‘5‘7
of aluminium rod is : (@gy=*- M f 7 Cs3
ap=2.2X 105K~ @/ 30 A N | o
) 63cm " 95 J NV %
@) 1139cm A ass I is attached to a tbln wire and why
(4 88cm 130 o a vertical circle. The wire 18 ‘?1\%&1 toh

For ap-type semic

o

statements 1s true ? ,
(1) Electrons are the majority carriers and
pentavalent atoms are the dopants.

Electrons are the m

@)
trivalent atoms are the dopants.

atoms are the dopants. 8

4

pentavalent atoms are the dopants.

the fig of reyol

Ay N

@  y)=—3cos2mt, whepe &
; m

. it
=4 s - J b
@ oI sm( 7 Where ping |

‘J

onductor, which of the following

ajority carriers and_
& \‘

Q3

Holes are the majority carriers ar}d trivalent

Holes are the majority carriers and

The radius of circle, the period of revolution, initia]
ution are indicated i

F‘

when : S

(1), inc <
,\(;( the mass is at the highest point’
) the wire is horizontal
_'é‘ (4) themassisatthe lowest j)oint

21/ Average velocity of a particle executing SHY

one complete vibration is : JJ‘ID/ \
_ . VAR

~J < x o |

(1)  zero

Aw :
o :
@) ; S
@ Ao ~J
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A disc of radius 2 m and mass 100 kg rolls on a

/[
1}4-

horizontal floor. Its centre of mass has speed of

R1

15
Ué‘. In which of the following devices, the eddy current
effect is not used ?

20 cm/s. How much work is needed to stop it ? (1) electricheater
JG) 1d {?‘\ A wa @)  induction furnace
@ 33 e G ( magneticbrakingin train
@ 30kJ % VEoh RO \(cy/ electromagnet
@ 2d M%}b . 129. At a point A on the earth’s surface the angle of
- /09 ‘fﬂ » dip, = +26°. Ata point B on the earth’s surface
125. +6V : \pﬁ*‘ the angle of dip, 3= — 25°. We can interpret
that :
(1) Aand B are both located in the southern
hemisphere.
2) AandBare both located in the northern
hemisphere.
@) Ais located in the southern hemisphere and
B is located in the northern hemisphere.
4 A is located in the northern hemisphere and
The correct Boolean operation represente dby the B is located in the southern hemisphere.
circuit diagram QT2 36 180. Six similar bulbs are connected as shown in the
(1) NOR figure with a DC source ofemfE, and zero internal
@ AND resmta%ce. :
OR The ratio of power consumption by the bulbs when
@ (i) all are glowing and (ii) in the situation when
(4 NAND two from section A and one from section B are

' momenta enters perpendicular t
magnetic field, B.

paths r: T, will be :

(1 1:4 QV; /:M\
M el r{\x\}'
@ 1:2 o LAY

% ?
@ 4:1 3

Ll

distance apart an
F. If 25% charge of A is tr
' force between the charges becomes :

_ F
i

9F
16

168

Ionized hydrogen atoms and a-particles with same
o a constant

The ratio of their radii of their

Two point charges A and B, having charges
+Qand —Q respectively, are placed at certain
d force acting between them is
ansferred to B, then

glowing, will be :

-~ — >

A B
E
(R 5 X
@ 4:9
@ 9:4
@ 1:2

\@LA A small hole of area of cross-section 2 mm? is
present near the bottom of a fully filled open tank
of height 2 m. Taking g=10 m/s?, the rate of flow
of water through the open hole would be nearly :
\J 6.4x10~6m3/s
@ 126x10%m¥s

@ 89x107%mds
223x1076md

ol i

e 71 wiksd gk




pite 1 om the following
- o 1;_1(,'
16 Aaeh C els = .
2B. w i€ o ko}{\:
g dll’\g_“_ 0{ he 15 L—QU’ {_‘) 3 cu
the circuits Shov\nbelo:\ ﬂiﬁto i . CuFeS;’.
meb d the amme ers Wi U :
\tmeters an CU{QH) :
19
] 10 Q —_— ,_,Far-'-'-.l ¥ e.§0 4
BB T 0  rpimhohe
\ I"‘ (\ | L& 7y & / Enzy™e® A :::]:t 1, metal & ) as the cofa
) (£ ] I 2 T =
Y= : feis N \ ¥ ok oquire an A1K
\ | A %
. iiaring o Sr
10V ‘
circwi? 2 Be
Circuit 1
1 > Mg
® Vo> Vi and 17 "2 -
; : a
] I § 1 i,=2 .
@ Ve >V, and 1 _ alsolutio _the correct optionis
g Vi=V2 and 172 ranide TandP
¢ 1 = ! (1) Ao Gﬁo £ constal'l
' = mix
@ Vi V2 and ;=52 e g=0at constant and P
mix
T and P
S urface _yz0at constant
Th -ork don goraise & bsp.afr o h 3 B mix 4 | a.ﬂdP
133, {e‘: arth to a2 elght h Whlch equal to \W me H - £ consta‘nt
olt e e : >
adius of the earth, 18
v o A 1§/What ig the cOX ect electron %)nﬁguratl
3 meR At ;«czx the central ato mK4[Fe(CN)3] as
- field theory 2 1,\' N
R 4.2 B2 W4
@2 mE @ A2 3 “
(3) 2 mgR tgp\
$us
[ ;e
: 3 £ 9 e
2% %
\ =
A \ C/"?C'

ses, heat1s neither

3
_(4) e ty ()yro’_

ﬁIn which of the following proces
absorbed nor released by 2 system ?

(1Y

140/ The number of sigma (& 5 1
\/ el 51000527 (o) and pi () pond
(1) i3 crbonds and no ‘ﬂ'bOnd,

isochoric

isothermal

adiabatic
isobaric 3) 8obondsand5 ) .
A solid cylinder of mass 2 kg and radius somie | 141 Acompannt ek y Fo
potating about its axis at the rate of 3rpm. The The an?m ;:_f“t?:dby P ey :
| que required to stop after 2m revolutions C:S ,, % ht.u otk mw““mﬂl close
’ A i s ®© Chy |
I QYIOP‘-ENm 9 H"' “),: /;, 2) c - . .n SRRE
~ NEarep 47 \ ( 2A3 * st ket o=
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»/ The number of moles of hydrogen gnolecules
] required to produce 20 moles of ammom/a:? thioigg}] 4

Haber's processis: W
_ s Tl
o v ¥

@) 10 x’jﬂ‘“’

@ 20 \@\“ Y

W

143, Which of the followin

(1) SnFy is ionic in nature

gis incorrect statement ?

"[S’}\Q ,
2 PbF,is covalent in nature ' !
@ SiCly ig easily hydrolysed
@ GeXy xX=F, C, Br, 1) is more stable than
GeX,,
\ 14& Which of the following 18 an amphoteric
~/ hydroxide?
(1 Be(OH),
¢  SrOH),
@ Ca(OH),
@) Mg(OH),
145. The manganate and permanganate ions are
tetrahedral, due to: y

(1) Thew-bondinginvolves overlap of d-orbi
of oxygen with d-orbitals of manganese

(2)  The-bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

(3)  There is no 7- bonding

(4)  The - bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

146. pH of a saturated solution of Ca(OH), is 9. The
solubility product (Kap) of Ca(OH), is ; a1

(1) 05x10-10 @1 %@{3
4 r

2 05x10-16 ¢ 4o .
(3 025x10-10 ﬁc\f/ qﬂz'ﬂ

@ 0125x10-15

fiﬁ t:;;e(ti:fe that forms maximum boiling
( Heptane + Octane
@  Water+ Nitric acid
@)  Ethanol + Water

@ Acetone + Carbon disulphide

=

148. Match the Xenon com

aw a

in Column -1 with

unds _
po II and assign the

:ts structure in Column -
correct code :
Column -1 Column -1I <\
@ XeF 1) pyram.idal = .ZLG/\ —
(b) XeF:\Aﬂ) square planar </ <y®
© XeOF, (1) distorted octahedral™ % ;
@ XeOq ) squarepyramidal 9/4;7;97\/
Code:
@ ® ©@ @
o @ @ O @
@ O @ @ @iv)
§ @ @ @ 0
@ G G @ @v)
149, Which of the following reactions are

disproportionation reaction ?

@ 2Cut—>Cut+ Cu®

©) 8MnO; +4H' - 2MnO +MnO, +2H,0
© 2KMnO, A, K,MnO, +MnO; + Oy
@  2MnOj +3Mn*" +2H;0 — 5MnO, +4H®

Select the correct option from the following :
(1) (a)and (d) only

(2) (a)and (b) only

(3) (a), (b)and (c)

@  (a),(c)and (d)

150{ Conjugate b n I '

J o ase for Bronsted aads:H-gS._and HF
T

(1) H0* and HzF"‘,reepeetively _I,//4

@ QH“ and HyF + resp St

® Hz0* andF- » respectively

v

OH™ and F-, respectively -
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151, :
Among the following, the reaction that proceeds
ough an EIeCthhﬂic substitution, is:

™ QCH oft+ fciteat, / \_cH,C1+Hy0
9Ll +I'(_,]II‘. ¥>7 :

(2) @—13201-(5“2(_“‘:,(>_m FN,

3) @«t(}lzﬁm”. C\>--—<_‘.I+ HCI

c o
Omlzmh cl cl
)

1 ; MO
D‘;‘) : djl (I* L]H‘ C
2D k0 e b

An alkene “A” on reaction with O, and Zn— H,0
gives propanone and ethanal in equimolar ratio.
Addition of HC1 to alkene “A” gives “B” as the major
product. The structure of prodgﬁt “B”is:

5 {{—“3 Fil] f
ML
CH, e
| 0
\/A{' H,C-CH-CH &-
| |
Cl ' CH,
CH,
|
(2) CI-CHE‘CHg—'CH
|
CH,
CH,Cl
3
P H3C~CH,~CH-CH,
-
4 HyC-CH,— (- 0,
2 | CHB ?,ﬂ ‘}f‘
Cl 24! o
S
A gas at 350 K and 15 hafj - Q)Ul’~ Qb

20 percent smalley

than

Z< iv
I and repulgjye forces aye dominang
n

> i
Z>1and attractive forceg are doming t
n
M8 Z>1and repulsive forces are

“@

doming

nt

Z<1 and attractive forces are dominap
an

1,

the one that jg .

. . - 11oW1nE
15 . - the 1(__-.[10\.
154 Amone e
/" oreen hOUSEE _
1-hu J10x10E€
(1) supbt
2) Jjtrous 0X1 el
(3) neE thane
1,{1 OZOTE
. in entropy is Negativs
vhich case change in entrop] Cgatux
155. In whiC DI.—. >
) 2H(g) —>Hy@) ¢
4 AT o -~ 1aS
(2) Evaporation of water 4\
(3) Expansion of a gas at constant tempasd
(4) Sublimation of solid to gas

Under isothermal condition, a gas at 3
expands from 0.1 L to 0.25 L against a cong
external pressure of 2 bar. The work donefy

gasis: w-;,.é’x:l\) 0\15
[Given that 1 L bar= 100 J] SRk
1 30d 2%.0,18 > A3
g -304J 2o
@) b5kd
4 254
157. Which of the following species is not stable
D  [SiClg)2-
(2 [SiFg)2-
B)  [GeClg)2-
@ [Sn(OH)y)2-
168. For L #apan
B oo o onstant for the cel] reat
e | &9 [/Qb_'g( 10 14 X0

Z

Given that M
B“

M 1.0x 1030 09
. 1 ﬁ |
(2) 1.0x 102 o .
@  10x105 i Xy oS 3 A
0x 100
® s Gat (o V0
Ox1010  loxior = o ch
o lo-wg )\8\
159/ Themethodwg ;
of watey i 3 e e tempo
Tary hard
gi Synthetlc resing meth
Calgon's me =
. thod
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\ 16“- \Nhl(lh Wi
' 100 mL of 0.1 M

11 make basic buffer ?

ot a
HC1+ 100 mlL of 0.1 M

19

| (1)
NaOH
@ 50 mLof 0.1 M NaOH + 26 mL of 0.1 M
CH __;('_‘00'1"1
(3) 100 mLi of 0.1 M (‘HJl‘UUH + 100 mL of
0.1 M NaOH L
@4 100 midof 0.1 M HCl+ 200 mL of
0.1 MNH,0H <x v
LY :

gent for the following

161 The most guitable rea
conversion, is:

_CH,

\H

HqC.
H.0-C=C-CHy—
3 H /
cis-2-butene

@ He**/HY H0

(2) Na/liquid NH,
( H,, Pd/C, quincline
(4) Zn/HCI

The compound that:
\(7{ - \h.e compound that is most difficult to protonate

18

(1) 0
Ph/
\H

12

0
H—"
\\H

3) 0

H.s[]/ \\H

\')’/ 0
Ho—"
d \.C 3

Which
I8 th
HE g

.

H,S <
22 <H,0 < H,Se < H,Te < H,Po
Hzo <H

H,p,
270 < HyTe < H,Se < H,S <H,0

correct thermal A
'8, Se, Te and Po) ?Stabﬂ-‘ty order for

28
<H,Te < H,Po < H,0 < H,S

28 < HZSE = HzTe < HgPO

n

R1

164. The correct structure oftribromooctaoxide i8:
o
e 0,
) O=Brf]3r—~Br-O
gy 4 s
(9]
O% i //()
@ % [ Q
0 (0]
0. Y
S Il V. N
O0=Br—Br—Br—
® P B Br—O
0] o 0)
0 _
_ oy 0
@y O B RrERiTl
0 I \O_
)

\'1555. The major product of the following reaction is :

COOH
+ NH, strong heating "
COOH
NH,
NH,
COOH
o X
CONH,

@

@




Chlorine
Sulphurie acid
Ammonia

Sodium azide or
Barium azide

Which of the following is the correct option ?

@ B © @
@/Eiv) @y @ o

@)

@ @

(it)

@)

)

vlﬁ’l./ For the chemical reaction

Ny(g) + 3H,(g) = 2NH,(g)

(iii)

the correct option is :

34Hz] _ , d[NH;]

o dt dt

d[NH,)
dt

20

168.

diate A in the fy

i :

5 nr,erme
1 ..,]'ruct,ill'tl lJ{ L

The 8L :

re. act 1013, 15 -

C H 3 C}H
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For the second period clements the cor}'eci

e O ) apec 176.
Which of the following diatomic m alecular t-_lpet_lleﬂ : ; e on thalpy is:
l has only w bonds according to Molecular Orbital increasing order of first ionisatz P
Theory ? - @) Li<Be<B<Cs0sNzF<Ne
1) Beg ,0 2 LiCBeéBCC<N<O<'F<N‘9
@ Oy 0 @ Li<B<Be<C<O<N<F<Ne
| Ny ‘Jf'x‘(.)U/ (4) [JichBecc<N<0<F<Ne
- /
4) Cn_)_ U w . :
177. 4d, bp, 5f and 6p orbitals are arranged in the order
171. The correct order of the basic strength of methyl of decreasing energy. The correct optionis:
substituted amines in aqueous solutionis: (1) 5f>6p>4d>5p
Q) CHNH,>(CHQNH>CHJN o gy @ 56>6p>5p>4d
@  (CHy),NH>CHyNH,> (CHy)sN ‘,(\.C// (3 6p>5f>5p>4d
(3) (C'Hﬂ)ﬂN = CHJNI{Q > [CH;]LIN.H \\/\ (4) GP - ﬁf} 4d = 5p
@) (CHg)sN >(CHy),NH> CH3NH,
\_1]5. For the cell reaction
172. Which mixture of the solutions will lead to the 2Fed+ = e
formation of negatively charged colloidal [Agl]I= e3* (aq) + 21~ (ag) — 2Fe?* (ag) +1 5(aq)
sol. ? ES. =024V -
> 1=0.24 Vat 298 K. The st o
@  50mLof0.1MAGNO, +50 mLof 0.1 MKI = . e standard Gibbs
energy (A.G%) of the cell reaction is :
@  50mLof 1 MAgNO;+50 mL of 1.5 M KI (Given that F Be o
ive =
@ 60mLofl MAgNO;+50 mL of 2 M KI o n23 EIIZ ]:Iraday L:Jnstant F=96500 Cmol 1]
; . 1= - ¢
@)  50mLof2MAgNO, +50 mL of 1 e : g ]
3450 mL of 1.5 M KI D e T 01y
11% [ff-lg;tg}i ;’hf[ inrtl:orrect statement related “1%015 3 —23.16kJmol ! Mg Q bzd& 12
ollowing ; i (4) 46.32 kJ mol -1 4. /e‘ﬁ 1<
1}/ PCls molecule is non-reactive C’ﬁ«f,ﬁ ﬁ > %13‘\4-'0»/ .9.
) Thn = . 179. Whic . G e *4 .
i f:; fql_:atondj P=ClhonAsmake anangléj il tth of the fo]lowmg series c‘n‘ﬂﬂz’mitions in t}‘;{eé
20°with each other pacsim of hydrogen atom falls i e
B3 Twoaxial P- region ? alls in visible
4 = Clbonds m:
With each offies smake an angle of 180° W) Brackett series L
@ Axialp—(y @  Lymanseri N
1 bondg : yman series -
P are longer than torial ;
Clbonds g oA (3) Balmer series
g Among he follow: (4)  Paschen series 9-%""'
antibiotic j - OWing, the narrow spectrum : ;
(1) chlopg 180 The biodegradable polymer is :
an ; :
@) pem’ciuf o ()  Buna-S
3) AMpie: J‘n . \_,(2’ nylon-6, 6
k. Picillin 3 -
) i nylon 2-nylon 6
: xyeillin o (4) nylon-6 \ 0P
v \ - 1
th?rawmnﬂtantf [ . ! q°1 (’o |qq 0.0 QJ i %
time (1) requin dor a first order reactionisk, [ A% o9\ U j -000-%" CH}
Creaction is o ed for the completion of 99% of L2 s & |
. 1s given by VA ¥ _/-}Jd
B t=2303/k m’c’ 4 o Has~ % 1
0 S R
9 t=0.693/k Yy |Th \ Wb Cng %
t==ﬁ.9(}9_;k Xoatlr v 0.0 "3.' ot g
= L0
t= 4.606/k 4 0/.%} w M
¢ Yoo o
\




